
https://www.pass4lead.com/350-080.html
2022 Latest pass4lead 350-080 PDF and VCE dumps Download

 

 

 

350-080Q&As

CCIE Data Center Written

Pass Cisco 350-080 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4lead.com/350-080.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

350-080 Study Guide | 350-080 Exam Questions | 350-080 Braindumps                                1 / 5

https://www.pass4lead.com/350-080.html
https://www.pass4lead.com/350-080.html
https://www.pass4lead.com/350-080.html


https://www.pass4lead.com/350-080.html
2022 Latest pass4lead 350-080 PDF and VCE dumps Download

QUESTION 1

In one-armed design, which method must be used to achieve symmetric load balancing in ACE? 

A. Dual NAT 

B. Round Robin 

C. Dynamic Routing Protocol 

D. MAC Probe 

Correct Answer: A 

 

QUESTION 2

In the Cisco Nexus 7000 FabricPath domain, one switch becomes the root for the multidestination tree. Cisco
FabricPath IS-IS will automatically select root switches for each multidestination tree. One of the parameters that is
used to select the root is the system ID. Which two statements are true about the system ID? (Choose two.) 

A. The system ID is a unique 12-bit value. 

B. The system ID is a 48-bit value composed of the VDC MAC address. 

C. A higher system ID is preferred. 

D. A lower system ID is preferred. 

Correct Answer: BC 

 

QUESTION 3

What are two benefits of a FabricPath network? (Choose two.) 

A. Simplicity of configuration 

B. Automatic OSPF routing 

C. Scalability 

D. Dynamic link selection 

E. Spanning tree loop prioritization. 

Correct Answer: AC 

 

QUESTION 4

Refer to the exhibit. 
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The customer is trying to configure a rendezvous point, but for some reason it is failing. Which configuration should be
applied on both Nexus devices to configure the rendezvous point? 

A. RT-2(config)#ip pim send-rp-discovery loopback10 RT-2(config)#interface lo0 

B. RT-2(config-if)#ip pim-sparse RT-2(config)#ip pim send-rp-announce lo10 group-list 239.0.0.0/24
RT-2(config)#interface lo0 RT-2(config-if)#ip pim-sparse 

C. RT-2(config)#ip pim send-rp-discovery loopback10 RT-2(config)#interface lo0 RT-2(config-if)#ip pim-sparse 

D. RT-1(config)#interface Vlan106 RT-1(config-if)#no ip pim border RT-2(config)# ip pim send-rp-announce lo10 group-
list 239.0.0.0/24 RT-2(config)#interface lo0 RT-2(config-if)#ip pim-sparse 

E. RT-1(config)#interface Vlan106 

F. RT-1(config-if)#no ip pim border RT-2(config)# ip pim send-rp-discovery loopback10 

G. RT-1(config)#interface Vlan106 RT-1(config-if)#no ip pim border 

Correct Answer: C 

 

QUESTION 5
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Refer to the exhibit. 

According to the equipment tab in Cisco UCS Manager, which is true? 

A. A is an uplink port, B is a fabric port, C is a server port, D is a backplane port, E is a DCE interface, and F is a vNIC 

B. A is an uplink port, B is a server port, C is a fabric port, D is a backplane port, E is a DCE interface, and F is a vNIC 

C. A is an uplink port, B is a fabric port, C is a backplane port, D is a server port, E is a DCE interface, and F is a vNIC 

D. A is an uplink port, B is a server port, C is a fabric port, D is a DCE interface, E is a backplane port, and F is a vNIC 

E. A is an fabric port, B is a downlink port, C is an uplink port, D is a server port, E is a VIC interface, and F is a vNIC 

Correct Answer: B 
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